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Which of the following are benefits to the business of implementing service transition? 
 
 
 
1. Better reuse and sharing of assets across projects and resources 
 
2. Reduced cost to design new services 
 
3. Result in higher volume of successful changes
 
 
 
A. 1 and 2 only 
B. 2 and 3 only 
C. 1 and 3 only 
D. None of the above 
 

Answer: C

 

 

The consideration of value creation is a principle of which stage of the service lifecycle?
 
 
A. Continual service improvement 
B. Service strategy 
C. Service design 
D. Service transition 
 

Answer: B

 

 

Which of the following is the BEST description of a centralized service desk?
 
 
 
A. The desk is co-located within or physically close to the user community it serves 
B. The desk uses technology and other support tools to give the impression that multiple
desk locations are in one place 
C. The desk provides 24 hour global support 
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D. There is a single desk in one location serving the whole organization 
 

Answer: D

 

 

Who is responsible for ensuring that the request fulfillment process is being performed
according to the agreed and documented standard?
 
 
 
A. The IT director 
B. The process owner 
C. The service owner 
D. The customer 
 

Answer: B

 

 

Which of the following is MOST concerned with the design of new or changed services?
 
 
 
A. Change management 
B. Service transition 
C. Service strategy 
D. Service design 
 

Answer: D

 

 

Which of the following should be considered when designing measurement systems,
methods and metrics? 
 
 
 
1. The services 
 

Question No : 4

Question No : 5

Question No : 6
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2. The architectures 
 
3. The configuration items 
 
4. The processes
 
 
 
A. 1, 2 and 3 only 
B. 1, 3 and 4 only 
C. 2, 3 and 4 only 
D. All of the above 
 

Answer: D

 

 

What is a RACI model used for?
 
 
 
A. Performance analysis 
B. Recording configuration items 
C. Monitoring services 
D. Defining roles and responsibilities 
 

Answer: D

 

 

What type of services are NOT directly used by the business but are required by the
service provider to deliver customer facing services?
 
 
 
A. Business services 
B. Component services 
C. Supporting services 
D. Customer services 
 

Answer: C

 

Question No : 7
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What type of record should you raise when a problem diagnosis is complete and a
workaround is available?
 
 
 
A. A service object 
B. An incident 
C. A change 
D. A known error 
 

Answer: D

 

 

Which of the following processes contributes MOST to quantifying the financial value of IT
services to the business?
 
 
 
A. Service level management 
B. Financial management 
C. Demand management 
D. Risk management 
 

Answer: B

 

 

What is the BEST description of the purpose of the service operation stage of the service
lifecycle?
 
 
A. To decide how IT will engage with suppliers during the service lifecycle 
B. To proactively prevent all outages to IT services  
C. To design and build processes that will meet business needs  
D. To deliver and manage IT services at agreed levels to business users and customers 
 

Answer: D

Question No : 9

Question No : 10
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Service design emphasizes the importance of the "Four Ps". These "Four Ps" include
Partners, People, Processes and one other "P". Which of the following is the additional
"P"?
 
 
A. Profit 
B. Preparation 
C. Products 
D. Potential 
 

Answer: C

 

 

Which of the following availability management activities is/are considered to be proactive
as opposed to reactive?
 
 
1. Monitoring system availability
 
2. Designing availability into a proposed solution
 
 
A. None of the above  
B. Both of the above 
C. 1 only  
D. 2 only 
 

Answer: D

 

 

Who is responsible for defining metrics for change management?
 
 
A. The change management process owner 
B. The change advisory board (CAB)  
C. The service owner  

Question No : 12
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D. The continual service improvement manager 
 

Answer: A

 

 

Which one of the following activities is NOT part of the Deming Cycle?
 
 
A. Act  
B. Plan  
C. Do 
D. Co-ordinate 
 

Answer: D

 

 

Which one of the following is the BEST description of a major incident?
 
 
A. An incident which is so complex that it requires root cause analysis before a workaround
can be found 
B. An incident which requires a large number of people to resolve  
C. An incident logged by a senior manager 
D. An incident which has a high priority or a high impact on the business 
 

Answer: D

 

 

Which process has the purpose to ensure that, by managing the risks could seriously affect
IT services, the IT service provider can always provide minimum agreed business-related
service levels?
 
 
A. Change management  
B. IT service continuity management  
C. Financial management for IT services  
D. Service catalog management  

Question No : 15
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Answer: B

Explanation: References: Reference: http://wiki.en.it-

processmaps.com/index.php/ITIL_V3_Service_Design (See IT service continuity

management) 

 

 

 

 

 

 

 

Which one of the following can help determine the level of impact of a problem?
 
 
A. Definitive media library (DML) 
B. Configuration management system (CMS) 
C. Statement of requirements (SOR) 
D. Standard operating procedures (SOP) 
 

Answer: B

 

 

Which one of the following activities does application management perform?
 
 
 
A. Defining where the vendor of an application should be located 
B. Ensuring that the required functionality is available to achieve the required business
outcome 
C. Deciding who the vendor of the storage devices will be 
D. Agreeing the service levels for the service supported by the application 
 

Answer: B

 

 

Question No : 18

Question No : 19
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Which statement about the emergency change advisory board (ECAB) is CORRECT
 
 
 
A. The ECAB considers every high priority request for change (RFC) 
B. Amongst the duties of the ECAB is the review of completed emergency changes 
C. The ECAB will be used for emergency changes where there may not be time to call a
full CAB 
D. The ECAB will be chaired by the IT Director 
 

Answer: C

 

 

A known error has been created after diagnosis of a problem was complete but before a
workaround has been found. Is this a valid approach?
 
 
 
A. Yes: for information purposes, a known error record can be created at any time it is
prudent to do so 
B. No: the Known Error should be created before the problem is logged 
C. No: a known error record is created when the original incident is raised 
D. No: a known error record should be created with the next release of the service 
 

Answer: A

 

 

The design of IT services requires the effective and efficient use of "the four Ps". What are
these four Ps?
 
 
A. People, process, partners, performance 
B. Performance, process, products, plans 
C. People, process, products, partners 
D. People, products, plans, partners 
 

Answer: C

 

 

Question No : 21

Question No : 22
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Which of the following are reasons why ITIL is successful?
 
 
1. ITIL is vendor neutral
 
2. It does not prescribe actions
 
3. ITIL represents best practice
 
 
A. All of the above 
B. 1 and 3 only 
C. 1 and 2 only 
D. 2 and 3 only 
 

Answer: A

 

 

With which process is problem management likely to share categorization and impact
coding systems?
 
 
 
A. Incident management 
B. Service asset and configuration management 
C. Capacity management 
D. IT service continuity management 
 

Answer: A

 

 

Which one of the following is the BEST definition of the term service management?
 
 
A. A set of specialized organizational capabilities for providing value to customers in the
form of services 
B. A group of interacting, interrelated, or independent components that form a unified
whole, operating together for a common purpose 
C. The management of functions within an organization to perform certain activities 
D. Units of organizations with roles to perform certain activities 
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